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Update

* Rearrange the setting of detectors, make three shashlyk module as a
cluster.

e Add third FADC board, but readout is failed, need to reset address.

* Add SUM of preshower and shashlyk to TDC channel, try to add
separate module to TDC later

e Add SUM of SoLID detectors to scaler

* Data taking rate previous is 30, could reach 40 now.



Rearrange the geometry of SoLID detectors




Rate with cosmic after changing geometry
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Cosmic rate get higher. Since SoLID calo rate is so low and no other change, why the rate get high? Need to check.



Scaler rate with beam on

Sun Oct 30 1l6:26:14 EDT 2016

Type Counts Rate (Hz) Rate (KHz)

10 KHz pulser 101881 10000.00 10.00 ======== 1151 Scalers

Front Top scint 4094456 401886.12 401.89
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Ratio compared with Front scintillator is still around 20, high rate with cosmic may caused by light leak.
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